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i A, first box con
; contams four ba!

talns seven baHs ﬁumber

~-Consider the po jynomial of the comp ¢

P(z)=2Z°-62°+97*-6Z+2

1-" Show that if Zgis @ roat of th e r“'yno

: roote.of "‘1{’_ r“O‘ ol (?_[ nks)
- 2- Caleulate (1+1) 2 (H I\J {140 ¥ afia
3- Hence solve the cquauorl piz) =0 in .
(1 5mks)

. PROBLEM (11 mks)
> PartA

COMPETITIVE ENTRANC :

Tame a!lowed -4 hour., o
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%rawn at random from the ﬂrsf box aﬁd

then from the second box: —
- What's the probabiiity that me AUMBbErs drawn are 1dentucal? (1mk) e A= :
25k be a random variable which denctes the absolute vaiue ot the. / 7 :
_ufference between the two numbers : B
& Determine the !aw of probab!‘l*y 13F X (1 Smks)
h: Calculate the maths cmatical eXpET. _stion-and the vaﬂance of % {answers
should be ex Loael E BemTimE s Sim ch tterrnc (1,5mks) - Nl
T - "Smks\ ' '
SR
-~ ‘X?, .

<variab1e 7 defined by:

aial, the numbers Tl——ahd & also
- (1+1) (1,5mks)
','_wh‘.ch will have four distinct sotutions.
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letgbea numemc function of & rec variable x defined on]-2; +« [by : [

g(x)= (x+2)-—1+1n(><+2) .

1- Calculate g'(x) and hence deduce by -

2- Calculate g(-1) and hence decuce the sk
(the graphical repres -entation of r i

- (tion of the variation of g

(0,75mk)

1 of g(x), following the values of X.
3t NECeSSETY). (0,75mk)
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«1-. a) Determine the limits of f(x) as X tends %o -2 and when x tends to . i
too : (1mk) i R
b) Show that: f({x) = H‘@T(U ' (0.5mk) : i
: 2 (x + 2)‘ Y. o

L

, * €) Draw a variation table of f. %' (0.5mk) N
- Let (C) be the curve of f and (D) the equat »n of the straight line y=x. i

«rd- Show that (C) has a vertical asympiote an the line (D) as an oblique
Jtasymptote : (1mk) ‘ ;

p: Show that (C,) and (D) meet at only one olt int and give the coordinates.

£C=.Show that there exists a unigue point (B) ¢ n the curve (C) where the tangent e i S A
:(T) is parallel to (D). State the coordinates of B and the equation of (T) (1mk) VR T
Carefully draw. the curve (E_;):speci_fy_inge-the-zas_ymp't_qte {vertical and oblique) PR
#and the tangent (T).on an orthonormal plare {0,ij). [ unit'of: measuremerit of:. -
:length on.:the axes: 2emmlgEt e oy e T SRR
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P37 [Take e ;;'2',-7_;“31 =037%In2~0,7and In3~ 1] . R T i
:fﬁéf,la'fi 7 Calculate the area A(4), of the d ima restricted by: the ctrve (C),

)€ line.(D) and the straight line equations x=-1 and x = . Find the limit of A(1)as
tendsto+eo 2 - {1,5mk) - ilrng s o e A .

- Let hrbe the restriction of-f on the interval [, + . : :
a- Justify that h is a bijection.of [-1, +w[ o [-1; +[. (0,5mk)
b- Draw the curve (C) 6f ™', on the same ¢ »ph as (C). e

- tDe 0ot study the graph Of_ l--I—). (1mk) : B
GOOD LUCK 11111 :
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